Assembly Tnstructions

. . Instructions d’assemblage

W llllal I | S—Sono I I l a InC . Instrucciones de Ensamblaje

Pottery Barn — Pottery Barn Teen — Pottery Barn Kids — Williams Sonoma Home — West Elm — Rejuvenation — Mark and Graham — GreenRow

29-Mar-2024

13

& &

\_/ \_/

(Product may differ [ Le produit peut différer / El producto puede diferir.)

SHOWER DOOR KNOB SET
BOUTONS DE DOUCHE
POMOS DE DUCHA

© 2024 Williams-Sonoma, Inc.



Assembly Instructions
Instructions d’assemblage

Wiuiams-sonoma InC ° Instrucciones de Ensamblaje

Pottery Barn — Pottery Barn Teen — Pottery Barn Kids — Williams Sonoma Home — West Elm — Rejuvenation — Mark and Graham — GreenRow

29-Mar-2024 2/3

A CALIFORNIA PROPOSITION 65 WARNING: This product can expose you to chemicals including Lead which is known to the
State of California to cause cancer and birth defects or other reproductive harm. For more information go to
https://www.p65warnings.ca.gov/

A AVERTISSEMENT RELATIF A LA PROPOSITION 65 DE LA CALIFORNIE: Ce produit contient du laiton qui contient des composants

qui contiennent du plomb, un métal lourd connu dans I’Etat de la Californie pour causer le cancer, des malformations congénitales ou

autres dommages au foetus. Pour plus d'informations allez a https://www.p65warnings.ca.gov/
A ADVERTENCIA PROPOSICION 65 DE CALIFORNIA: Este producto contiene componentes de ferreteria de bronce, que contiene

plomo, un metal pesado que es conocido en el Estado de California por causar cancer, defectos de nacimiento y otros dafios

reproductivos. Para obtener mas informacion, visite https://www.p65warnings.ca.gov/

PARTS INCLUDED

e Setofknob (2 pcs) e 2pcs 8-32*%1/8" hex set screw
e 2pcs Washers e 1pc 3/8” Dia. Clear Plastic Tube and 1pc 1/2” Dia. Clear Plastic Tube
e 1pcAllen Key e 1pc 8-32%1” [ength threaded rod and 1 pc 8-32%1.25” length threaded rod
PIECES INCLUSES
e Boutons (2 pieces) e 2 piece 8-32%1/8" vis de réglage hexagonale
e 2 pieéces Rondelles e 1tube en plastique transparent de 3/8" de diamétre et 1 tube de 1/2" de diamétre
e 1pccléAllen e 1piece de 1" delongueur et 1 piece de 1,25" de longueur de 8-32 tige filetée

PIEZAS INCLUIDAS

e Pomos (2 piezas) e 2 pieza 8-32*%1/8" tornillo de fijacién hexagonal
e Arandelas de 2 piezas e 1tubo de plastico transparente de 3/8" de didmetro y 1 tubo de 1/2" de diametro
e 1pcllave Allen e 1pieza de1" delongitud y 1 pieza de 1.25” de longitud de 8-32varilla roscada
e — S 1" length
/ \ / \ ~3 |
L oAare [l 8" Dia.
.. et - 1 0 3 @ 1/2""Dia
~|| | “ 0 @ % 1.25" length
) S ) H _ i
o w i QO CCmaCmMCICIN
Set of knobs Washers Allen Key Hex set screw Clear plastic tube Threaded rod

Note: These knobs are designed to mount on glass shower door that have a thickness range between 1/4” and 1/2”, with
pre-drilled hole sizes of diameter 3/8” or 1/2”. If your shower door is thicker or thinner than this range, please obtain the

appropriate size screw from your local hardware store.

Note: Ces boutons sont congus pour étre montés sur des portes de douche en verre d'une épaisseur comprise entre 1/4" et 1/2",
avec des trous pré-percés de diamétre 3/8" ou 1/2". Si votre porte de douche est plus épaisse ou plus fine que cette gamme,
veuillez vous procurer la vis de taille appropriée aupreés de votre quincaillerie locale.

Nota: Estas perillas estdn disefiadas para montarse en puertas de ducha de vidrio que tienen un rango de espesor entre 1/4” y 1/2”,
con orificios preperforados de didmetro 3/8” o 1/2”. Si la puerta de su ducha es mds gruesa o mds delgada que este rango,

obtenga el tornillo del tamafo adecuado en su ferreteria local.

WASHER ] CLEAR ’7 WASHER
PLASTIC SLEEVE

FIRSTKNOB —— ] —— SECOND KNOB

o~ ! | 0

. T THREADED ROD
© 2024 Williams-Sonoma, Inc. SETHCREW SET SCREW


https://www.p65warnings.ca.gov/
https://www.p65warnings.ca.gov/
https://www.p65warnings.ca.gov/

Assembly Instructions
Instructions d’assemblage

Wiuiams-sonoma InC ° Instrucciones de Ensamblaje

Pottery Barn — Pottery Barn Teen — Pottery Barn Kids — Williams Sonoma Home — West Elm — Rejuvenation — Mark and Graham — GreenRow

29-Mar-2024 313

MOUNTING INSTRUCTIONS

1. Pre-drilled hole of 3/8” or 1/2”” on the glass shower door with %" or %"’ thickness.

2. Insert the appropriate diameter Clear Plastic Tube.

3. Attach the Plastic Washer to the First Knob and onto the threaded rod with appropriate length according to your door thickness.
Then, insert the threaded rod through the door hole with Clear Plastic Tube installed.

4. Install the Second Knob by firmly tighten it onto the threaded rod on the opposite side of the glass door.

5. Lastly, insert the set screws into the knob to secure the installation.

INSTRUCTIONS DE MONTAGE

1. Trou pré-percé de 3/8" ou 1/2" sur la porte de douche en verre avec %" ou %" d'épaisseur.

2. Insérez le tube en plastique transparent de diamétre approprié.

3. Fixez larondelle en plastique au premier bouton et sur la tige filetée avec une longueur appropriée en fonction de I'épaisseur de
votre porte. Ensuite, insérez la tige filetée dans le trou de la porte avec le tube en plastique transparent installé.

4. Installez le deuxiéeme bouton en le serrant fermement sur la tige filetée du c6té opposé de la porte vitrée.

5. Enfin, insérez les vis de réglage dans le bouton pour sécuriser I'installation.

INSTRUCCIONES DE MONTAJE

1. Orificio pretaladrado de 3/8”” 0 1/2” en la puerta de vidrio de la ducha con un espesor de % 0 %”.

2. Inserte el tubo de pldstico transparente del didametro adecuado.

3. Coloque la arandela de plastico en la primera perilla y en la varilla roscada con la longitud adecuada segun el grosor de su puerta.
Luego, inserte la varilla roscada a través del orificio de la puerta con el tubo de plastico transparente instalado.

4. Instale la segunda perilla apretdndola firmemente en la varilla roscada en el lado opuesto de la puerta de vidrio.

5. Por dltimo, inserte los tornillos de fijacién en la perilla para asegurar la instalacién.

The completed assembly: C/_
L'assemblage terminé: ((z@
El montaje completo:

CLEANING INSTRUCTIONS:

e Dust often using a clean, soft, dry and lint-free cloth.

e We do not recommend the use of chemical cleansers, abrasive or furniture polish on our lacquered finish

e Hardware may loosen over time. Periodically check to make sure all connections are tight. Re-tighten if necessary.

INSTRUCTIONS D’ENTRETIEN

e Essuyer avec un chiffon doux et sec.

e Lutilisation de produits nettoyants chimiques, d’abrasifs ou d’encaustiques sur nos finitions laquées n’est pas recommandée.

o Le matériel se desserre avec le temps. Vérifiez périodiquement pour vous assurer que toutes les connections sont serrées.
Resserrer si nécessaire.

INSTRUCCIONES DE CUIDADO

e Limpiar con un pafio suave y seco.

e No recomienda el uso de limpiadores quimicos, abrasivos o lustramuebles sobre el acabado lacado.

e El hardware se afloja con el tiempo. Revise periddicamente para asegurarse de que todas las conexiones estén apretadas.

Vuelva a apretar si es necesario.

© 2024 Williams-Sonoma, Inc. A



